Aşağıdaki soruları yanıtlayınız.

1. 

[image: image1.png]Find the ASM chart corresponding to the following description: There are
two states, A and B. If in state A and input X is 0, then the next state is A If
in state A and input X is 1, then the next state is B. If in state B and input Y
is 1, then the next state is B. If in state B and input Y is 0, then the next state
is A. Output Z is equal to 1 while the circuit is in state B.
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2. Find the state table for the following ASM chart
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3. Implement the ASM chart in problem 2 using a sequence register and decoder.

4. Implement the ASM chart in problem 2 using one flip flop per state method.

5. [image: image3.png]8-34. The single-cycle computer in Figure 8-23 is to have five instructions added as
described by the five register transfers. These are somewhat strange

instructions in that they operate on specific registers.

(a) Complete the following table, giving the binary instruction decoder

outputs for executing each of the instructions, as described by its register
transfer. (See Figure 7-19 and Table 7-10 for datapath field codes. If a

given field is not used, leave it blank.)

nstruction — Register
Transfer DA |AA | BA | MB | Fs | MD | RW

mMw

PL

JB

R[1] = R[7T]®R[4]

R[5]¢M[R[6]]

R[3]R[4]+2

R[5] sl R[6]

R[4]«<R[7]

(b) Complete the following table, giving the instruction for execution of each
of the instructions, as described by its register transfer. (See Figure 8-24
and Table 8-7 for determining the opcode. If any field or bit is not used,

give it the value 0.)





[image: image4.png]Instruction — Register Transfer

Opcode

DR

SA

SB or Operand

R[0] = RI6]®R(7]

RI7]<MIR[6]]

R[7]«R[7]+2

R[7]¢sl R[7]

R[6]<RI[7]





6. [image: image5.png]List the symbolic and binary microinstructions similar to those given in
Table 8-11 and Table 8-12 for the following register transfer statements:
(a) R3<R1-R2,CAR«17 Assume DR=3,8A =1,5SB = 2.

(b) R5¢sr R5,CAR—CAR+1 Assume DR=5SB=5
(¢) If (Z = 0) then (CAR21) else (CAR—CAR+1)
(d) R6R6,C0,CAR—CAR+1 Assume DR =SA = 6.










